PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
20th July 2016, 12:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

The first Tirthankara (Jain guru) was / UYH dfer )ﬁq = (Q’
® Rishabhnath / BUYHATY
® VardhamanMahavira / adu= W
® Parsavanath / gAY
® Adityanath / Gﬂﬁ?qu Y

Correct Answer :-Rishabhnath / BYHATY

2)
Question Stimulus :-

A call center company had to arrange transportation for its employees. They asked for
quotes from different provider agencies and the following are the options they got: / T®

PId Yo BT B U FHATRAT & forg uRag &t awiT s M U= 3 T AT USar TS I
a1 ot 3k 3= A fawew et -

A. This option allows having uniform rate for day and night trips. This would cost you
Rs.1000 per trip. / I8 fd®ey fa71 8k /a &) 9 & forw gur ov 11 @t srgufa dar 81 s9¥ ufd awm
37 BT 1000 BT T SITETI

B. This option has differential fare for day and night trips. Day trlps would cost 700 per trip
and night trips would be charged 1200 per trip. / B. Sﬂﬁm [ 3 iR 3d F aE & famTE |
3R 21 37 &t amn § ufa am 700 @rTa et iR e ¥ ufa 9T 1200 ag@r smem|

C. This option charges depending on the total distance covered in a trip. It charges Rs.800
per trip if trip distance is more than 50 KM and Rs.1100 if trip distance is less than 50KM. /

C. 39 fdwey # To 96T &1 $d g & SMYUR U Y[ o SRR $99 Ufd 9= 800 FUT fohwmar g afe
g g8t 50 1. . I aifte Rt ek 1100 Fuu fasrar ghm afe & 50 . . 3 $u ghi

If the company has only 5 night tripg apd all less than 50KM, which -would be the best
option? / If¢ HU= & U 5 A I IEE & 3R It 50 franiier ¥ &0 &1 €, 9 S 1 I 337

fawea grmm?

* A

()



Either AorB/ A 3[Ydl B

Correct Answer :-A

3)

Question Stimulus :-

This famous instrumentalist plays the Sarod / 9§ T—Iﬁq?s{ digdh W goITd %

Pandit Ravi Shankar / Uf&d I Xi@dw
Amjad Ali Khan / 3M{GI¢ 3fell @
Pandit Jasraj / ufEd SRS

Sajjad Hussain / IIlq §'\ﬁ=r

Correct Answer :-Amjad Ali Khan / 3[ASI¢ 3l W1

4)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea gﬁrq, S dF B T
AT T s F I T :

If you like genetics, then you like microbiology. / 3R 3T 3TIAIIRI$! THE HId &, df 3T

SUTSHT IR TRig Fd §

If you don't like genetics, then you don’t like microbiology. / 3R 3ITq 3TaifXr®! gt
TG B §, a1 3T uySita fagr T8 wdie #va B

If you like microbiology, then you don’t like genetics. / 3R 3T 3UHT [T UEg Hd
g, @Y 3y Sgai R T T8 w7

If you like microbiology, then you like genetics. / 3Tk mamvﬁaﬁmqmm%%, ar
3ATT TGB! WG Fd 7

If you don’t like microbiology, then you don‘t like genetics. / 3[R 317 3(Uiq faq=

TR T8 B ¢, d) MY ATIAiP! e 7E a2

Correct Answer :-If you don't like microbiology, then you don‘t like genetics. / 3[R 3l

3upeita fagT= usig 8] #vd €, @1 37 Mgt wig T #ed B

5)

Question Stimulus :-

©)



A,B,C,D,E and F are members of a club. There are two married couples in the group. A is
the brother of D’s husband. C is the president of All India Working Women's
Association. F, a sitarist, is a bachelor. B’s wife is not a member of the club. Four of
them belong to the same family. B and F are colleagues in the same organization. /

A,B,C,D,E 3R F U% a9 & U™ ¢l 39 T4 ® o faarfea wie €1 A, D & ufq &1 uiE 81 € 3ifa
sf&ar afdhr o= TR $t e 81 F, U6 RiaRde®, $arT 81 B B Tl 59 wd &1 9o el
21 7 @ UR e Uo & URaR % WS §1 B R F, TP & Wie § Tead 2|

Who is married to D? / D@WW@%%?

Correct Answer :-E

6)
Question Stimulus :-

Who is the director-general of the Indian Coast Guard? / YR d¢ I8P & wﬁ%&wﬁq %?
® HC S Bisht/ TI I Tq fap
® Rajendra Singh /ﬂﬁ?{ﬁr&'
* R K Dhowan / 3[R & Ha
°* VA Kamath/ﬁ'qaﬂ'ﬂ'q
Correct Answer :-Rajendra Singh / 3195 fig
7)
Question Stimulus :-

The autobiography of Mahatma Gandhi is ___. / HeTHT i Bt BT %_I
® My Name is Truth / 4TI T ASY
® My Experiments with Truth / {Td mﬁﬁﬁi{'\q fay 54
® The Sword of Truth / § WIS 3T T

® The Honest Truth/ ¢ 3 Y

(4)



Correct Answer :-My Experiments with Truth / {TI Eﬂ'\‘lﬁﬁﬁﬂ'\q fay Y

8)
Question Stimulus :-

Where is Indian institute of Forest Management located in Madhya Pradesh? / H&I U= § YR a9 Wa=H=
R ! U 32

® Indore/ Ea?

® Bhandavgarh / 9T[dl¢

° Bhopal/"-ﬁ'qlﬁ'
® Burhanpur / g¥eT-TYR

Correct Answer :-Bhopal / HUTel

9)
Question Stimulus :-

Who is the founder of Wipro? / O & IRITUS DA %:?
® Narayan Murthy / STIRTIUT T[ﬁ
¢ Azim Premji / 3SiiH UHSIt
® Mukesh Ambani / gﬁm ST
* Laxmi Mittal / @&t e
Correct Answer :-Azim Premji / 3[SiH Yol
10)

Question Stimulus :-

Which of the following belongs to the same family as Daisy, Pansy and Rose? / a3 o3 I ufar A
Haitya § R i [aeeR, s9ga SR are?

e Bed / UG
® Violet / ST
® Plant / uter

® Red / A

(5)



Correct Answer :-Plant / Qe

11)

Question Stimulus :-

Which of the following groups of states has the largest deposits of iron ore? / frrafafea = & H’HE’[ ko
T WIg 3P T Had 99 HSR 32

e Andhra Pradesh and Karnataka / 3{i${ U= 3fR $-lch
e Bihar and Orissa / f¥gR 3R I
* Madhya Pradesh and Maharashtra / T4 Uo¥I Gﬁ?ﬂB'RTg
e West Bengal and Assam / Ui ST 3R 399
Correct Answer :-Bihar and Orissa / {98 iR IsHr
12)

Question Stimulus :-

Which of these rivers rises in Tibet, known as Tsangpo, and crosses over to

India in the name of Dihang? / 39 A3l & ¥ 19 ! fassa &1 3R ot 3, O & T4 A T
STt 8, 3R fRgiT & 9/ IR HRA P UR Pt 82

® Brahmaputra / SgIqd

® Yamuna / 9Yq-T
® Narmada / m
® Godavari/ Tﬁ?ﬁ'\ﬁ

Correct Answer :-Brahmaputra / S¢19A

13)
Question Stimulus :-

Alberuni wrote this book describing the conquests of Mahmud Ghazni / AT 7§ Q&I | HeHa et
1 fooral 1 qui= fsar T

® Hasan-ul-nisami / 89 3d Frart
* Kitab-ul-hind / fordaTa S@ fa=g
® Indica/ 3'%3‘7[

(6)



® Tabaqat-I-nasiri / ddThd g IR
Correct Answer :-Kitab-ul-hind / foaTa 3@ fag
14)

Question Stimulus :-

If cream cracker means computer programmlng, and its not cream cracker, then it's

programming. /Hﬁﬁﬂ'ﬂaﬁﬂﬁwm % &ﬁ?ﬂgaﬂﬂaﬁﬂﬂﬁé q9 T U gl
* True / 9gl
* False / Teld
e Maybe / S IPar g
* Irrelevant / 3WTERI®
Correct Answer :-Maybe / 8 I&dl &
15)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg o gﬁu
St foT T Sy vd fAhuf & 9 A 98 8

Statements: / HYH:

Some dogs are pigs. / T $1 YR gl

All pigs are cakes. / I YR G %'I

Conclusions: / fawp:

I. Some cakes are dogs. / I. $O $® F1 8

I1. Some cakes are not dogs. / II. $© $® F sl 8l

® Only conclusion I follows / Had foreed 1 IECANGI %

® Only conclusion II follows / Fad ey 11 fpaar %

® FEither conclusion I or conclusion II follows / 9T a e 1 ar fipe freed 11 IGEISGI %

® Neither conclusion I nor conclusion II follows / ¥ al s 1 ferear % 3ﬁT -1 'tﬁ foreed 11

Correct Answer :-Either conclusion I or conclusion II follows / T df forspd I a1 fibx forspd 11 Arpear

g

(7)



16)
Question Stimulus :-

Which articles of the Constitution of India relate to the office of the Governor? / HIRd & U BT \?vlﬂ'%—d 1|

ISUUTd Prafad A Safie g2
® 153-162
® 168-177
® 188-191
® 196-201

Correct Answer :-153-162

17)
Question Stimulus :-

Where is the tomb of Babur located? / dTdX BT HPART ﬁ\f@lﬁ %?

® Istanbul / &g
® Kabul / dIqd

® Persia/ PR
e Delhi/ et

Correct Answer :-Kabul / dIgd

18)

Question Stimulus :-

Which one of the following metal is used thermometers? / ﬁ'ﬂﬁ AP Urd yyuiHtexs # var foaar srdn %’?
e Copper / didl

® Mercury / URT

® Aluminum / al?gd’rﬁmw
® None of these / Eﬁﬁmﬁ

Correct Answer :-Mercury / UIRT

19)
(8)



Question Stimulus :-

Who is the first Chief Minister of Telangana? / CEUIGH %fugﬁ w o ??
e NT Rama Rao/mmm
® YS Rajshekara Reddy / aﬁqv m@
* K Harish Rao /& BTG
® K Chandrashekar Rao / & 9gRIGR 19

Correct Answer :-K Chandrashekar Rao / & JgRI@R I

20)
Question Stimulus :-

Which is the Sanctuary that is located in Umaria? / &9 9T ARG IR § fRYG %?
® Ghatigaon / UTEnTa
e Son/ ¥
* Bandhavgarh / STYTE
® Kanha / PI-gl

Correct Answer :-Bandhavgarh / SiHdi¢

21)

Question Stimulus :-

The capital of Manipur is / 'JTRTQ? P ISYUTT 8
® Shillong / R
® Imphal / FBTA
® Aizawl/ Gﬂm
® Guwahati / T[ATgTEl

Correct Answer :-Imphal / SBTd

22)

Question Stimulus :-

9)



Rivers that bring in lot of water to the Godavari system / qﬁ'CIT, Ell Tﬁﬂ'ﬁ'\ﬁ EAIGE] | U HTAT H o ardt %
e Ken and Son / &9 3R a4
® Kanhan and Wainganga / PI-gl 3R I
® Wainganga, Wardha and Penganga / aT'ITiTIT, guf iR Ui
® Tapti, Chambal and Betwa / aTGﬁ, Iqd \’rﬁT aTﬁT

Correct Answer :-Wainganga, Wardha and Penganga / aT'ITiTIT, gyt 3R A

23)

Question Stimulus :-

Who established the Madhav Music School in Gwalior? / TaTferaR § HTYd d faemed &1 g+ feaa &t
k)1 b

® Pandit Vishnu Narayan Bhatkhande / ufed ﬁ'&'ﬂ ARTIU YTAGES
* Pandit Ravi Shankar / UfSd 3fq 2

® SN Ratanjankar / T U NG RETY

® Rai Umanath Bali / ¥Tg SHTATY gfer

Correct Answer :-Pandit Vishnu Narayan Bhatkhande / GfSd ﬁu{[ ARTIY TGS

24)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu gﬁfq,\_rﬁ qb BI i
AT e IR :

It is not true that both mangoes are sweet and limes are sour. / 9g 94 H’(ﬂ%ﬁ?ﬁ 3ITH

S g ok g =g
e Mangoes are sweet and limes are sour. / 3TH {3 g iR ﬁl’@@% gl
e Mangoes are sweet or limes are sour. / 30 H3 & a1 frg &8 7l
e Mangoes are sweet and limes are not sour. / 3MH #& g ik ﬁ'l-'q‘tq'g T8t g
e Mangoes are not sweet and limes are sour. / 3 #i$ T8 § 8k ﬁ'@@% gl

Correct Answer :-Mangoes are sweet or limes are sour. / 3H & gar ﬁl’@@% gl

25)



Question Stimulus :-

Six friends A,B,C,D,E and F are sitting in a closed circle facing the centre. E is to the left
of D. C is between A and B. F is between E and A. / 38 i1 A,B,C,D,E 3R F %% 3t 3R g
U gu e T A IS B IE D P T SR RBIC ASRBF TR BIFEIRAFT TAHA I

Who is to the left of B? /B & a1 3iR &I &2

Correct Answer :-D

26)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& fape ?f-‘rq,a‘r e EHiY

A RRU T HFFA S IHAE :

If the sun shines, then we don’t use umbrella /tr%a:ﬁram%, ﬁ?ﬁ%‘lﬁﬁ?ﬂﬁﬂ?ﬁﬁﬁﬁ
g

e If we don’t use umbrella, then the sun shines /ﬂﬁ%‘qiﬂﬁﬁmﬂﬁﬁﬁ %', Eﬁﬁ'ﬁ[
DT &

e If the sun doesn’t shine, then we use umbrella /ﬂﬁwqﬁm %, ?ﬁE‘HE‘R}rﬁT
ITURT HA &

* If we use umbrella, then the sun doesn’t shine / af g9 BTd BT IUANT Hd B, ?ﬁwqﬁ
DT 8

e None of the above / SWRIgd Eﬁ'&‘ L)

Correct Answer :-If we use umbrella, then the sun doesn’t shine / af¢ g BTd &T IUTHT
P ©, a1 G TSl IHbaT 8

27)
Question Stimulus :-

Who was the last Mughal emperor of India? / HIRd & 3ifaw Wmaﬁ'—r e?

® Bahadur Shah Zafar / 9gTgY¥ RTE STHY

(11)



® Aurangzeb / NS
® Dara Shikoh / QIRT e

® Siraj ud Daullah /W?IT

Correct Answer :-Bahadur Shah Zafar / 9gTgx RITg ST
28)
Question Stimulus :-

Madhya Pradesh hosted the National Football League in the year u
aYg gexr A 9u H A Pedid diT ot ASaHl Dt

® 2013

* 2014

° 2012

® 2015
Correct Answer :-2013
29)

Question Stimulus :-

In the following diagram, the circle represents college professor, the triangle stands for
surgical specialist and medical specialists are represented by the rectangle. / IGE] Sﬂ?ﬁ
H, g« Blas & MBER HI UKgd Tl &, AP gxifar 8 IuRfPcre ARuy ik smifagm fafess smua
BRI Uegd fd T 1

College professors who are also medical specialists are represented by / B UTHTUS

< rfaeT fafrere oft ¥, Sa su axifar war @

(12)



Correct Answer :-X

30)
Question Stimulus :-

The figure below represents an unfolded box with numbers on several panels. Below of that are four drawings of boxes
with numbers. When folded, which box will it be? / T awﬁ fafrs Ual R IEaf arar Th fomr G fopar
g a1 fe@redt 8] Sud 2 Temsi ard Il # IR TSN & WIS I WR, 98 Hi °T 9991 g?

Lid

Correct Answer :-
31)

(13)



Question Stimulus :-
At an Electronic Data processing unit, five out of the eight program sets P,Q,R,S,T,U,V and
W are to be operated daily. On any one day, except for the first day of a month, only three

of the program sets must be the ones that were operated on the previous day. The program
operating must also satisfy the following conditions: / T SAdCH® ST T IHTS WX,

P,Q,R,S,T,U,V 3R W 316 & & Uig STdwHI g &7 gam &1 HuRe foran| afgq & uga @7 sisaw fasdt
W Te foF, 7 Friepal B e & TR g Fuifa 8 T 3 vga 9 Tan 1w g w6l F eguR ue
YUl WS gt 9ieel

1. If program P is to be operated on a day, V can’t be operated on that day. / 1. SR P
PrIwH oI feedt G gamn s, @ 39 &9 v &) aaman &l o Jwanl

2. If Q is to be operated on a day, T must be one of the programs to be operated after Q. /

wqmﬁmﬁqmm,aTmﬁwm TIfY, S Q & §I¢ Il ST
[

3. If Ris to be operated on a day, V must be one of the programs to be operated after R. /

3. 3R R dwH &1 Bt o7 e sirewm, o v prdeAl ¥ U g1 91fge, St R & d1¢ 9T ST 91 u|

4. The last program to be operated on any day must be either S or U. / 4. ifaw wriwy
<t fas1 oamar seem, 98 S 1 U § | U@ g1 9t

If R is operated at third place in a sequence, which of the following can’t be second .
program in that sequence? / 3R R &I $H # dITR T W I 4T 8, df S 9T BRI HH |
QORI g1 g1 APpar?

°Q

Correct Answer :-Q

32)
Question Stimulus :-

What is the day on 23rd February 1994? / 23 BRa3l 1994 &I &I 4T fa 22
e Monday / LIEEIR
* Tuesday / HddR

* Wednesday / gYdIR

® Thursday / [¥dR



Correct Answer :-Wednesday / §Yd}

33)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / fauy d
98 T [Td PR Wil aifepal A e B

e Bag and Baggage / Sif¥ar iR fara®
e Kith and Kin / firg 3R Hd¢i

e Pen and pencil / 99 3R tfya

e Bread and Butter / S8 3R @+

Correct Answer :-Pen and pencil / 99 3R 9@

34)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / auy 'Ef, u'st-‘T ar uel & o= fopedt
TR A BI5 Gad g| 7 fawed & JF @rar ug giR Raer iR e & 1y 3 yoR F1 Je6y 7|

DRIVEN : EIDRVN :: BEGUM : ?
® EUBGM
® MGBEU
® BGMEU
® UEBGM

Correct Answer :-MGBEU

35)
Question Stimulus :-

The Shipping Corporation of India was conferred the status by the Government of India in August,

2009. / HIRATT =g foRTH &Y 3R 2000 #, WRd TRPR §RT____ &oi1 UaH fpar 7ar |

® Maharatna / HeIRd

® Navratna / Td¥d

(15)



® Miniratna I / FFIRE yyw

® Miniratna I1 / f-iRa fgdfia

Correct Answer :-Navratna / 9d3d

36)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe i[ﬁ'lz
St fAT T $yY=Y vd el & 9N § 9 @

Statements: / ®YH:

Some packets are not kids. / $9 T¥e 5= T‘l'tﬁ%
All packets are flies. / 9} T&e nfRgai &
Conclusions: / fAwsd:

I. Some flies are not kids / I. $© AfRayi g 81 &

II. All flies are packets / II. 94 Afd@yi t&e &

® Only conclusion | follows / Had ﬁmnf I fArpaan %

® Only conclusion Il follows / Had fsed 1| AP aar %

® Both conclusion | and Il foIIows/ﬁ fspy 1 3R 11 o %

® None of the conclusion I or Il follows / ﬁwﬁf IO II & ﬁ' aﬁ‘é q'&ﬂ' IECINGI %
Correct Answer :-Only conclusion | follows / Fad e 1 fApadr %

37)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawea ﬂﬁt{
it RE 7T ST Td frepul & ar & 9 81

Statements: / $YA:

All pens are pencils / 9 #aw e &

All pencils are erasers / 4 9R@ R &
Conclusions: / fAshd:

I. All pencils are pens / I. 4 Ufd &aH &

II. All pens are erasers / 1I. It saw W%
(16)



® Only conclusion | follows / Had freed 1 Freaar %

® Only conclusion Il follows / Had ﬁWﬁf n fFreadar %

® Both conclusion | and Il foIIows/Zﬂ:ﬂ: frpy 1 3R 11 o %

® None of the conclusion | or Il follows / fpdr1arII# 9 aﬁs“ =|'Eﬁ freaar %
Correct Answer :-Only conclusion Il follows / P forpd 1| fpaar @

38)
Question Stimulus :-

What is the maximum distance between the two vowels ip terr_ns of numbe.r- of !etters,-
in the word, 'TRANSGRESSION’? / ‘TRANSGRESSION’ ¥Isg # 31&R| @1 = & Tae |, af Wl
& dta ot rftpan gt fpa-it 82

e 1
° 2
e 3
e 4
Correct Answer :-4

39)
Question Stimulus :-

If the positions of the first and the sixth digits of the number 2796543018 are
interchanged, similarly the positions of the second and the seventh digits are
interchanged and so on, which of the following will be the third to the left pf seveni;h
digit from the left end? / JEIT 2796543018 HT Ugd 3R TS WIH & 3 AT9H A g¢a MY g1 gt
WRE, gAY 3R Tad & R & 3P AT F gaa MY § 3R 3t avg qrat o W sga g Faa d
DN AT 3d & TT¢ 3R A TTAd 3P & I MR A TR =M R grme

e 0

e 1

o 7

e 8

Correct Answer :-1

(17)



40)
Question Stimulus :-

C and D are married couple. P and Q are brothers. P is the brother of C. How is Q related to D? / C Gﬁ? D Wra'xﬂ—cﬂ

WSTRI PR QUERIP, cHTHTE R Q, D T HA Halka @2
° Brother-in-law/a'a?

® Brother/ 'J-I'I"‘q"
® Son-in-law / GTHIG
® Cousin / TERT HTS
Correct Answer :-Brother-in-law / GG

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW@ 31&R TAHR SEAT B W ST : b _
bbc _ _bc_bb _c

® cbbbb

® bbcbb

® bbbcb

® bbbbb
Correct Answer :-chbbb
2)

Question Stimulus :-

In the foIIowing qpestipn, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, @I 4@ A TP US A 2| TAd UG §id Hifvd| 6,14,30,64,126

® 126



Correct Answer :-64

3)
Question Stimulus :-

6 9

The length of a gridle is GEmetre, when 4ﬁ meter is cut off, what is the length
6 9

of the remaining part? / U SRS B TS 610 M 8, 99 410 FTe 23 §, @) a9 R
P THETS T 82

S| =

e 4

-
J

Correct Answer :-110

4)
Question Stimulus :-

If 134 means ‘you are safe’, 578 means “they go home’ and 389 means ‘they are back’ 247 home is safe, which of the
following represents ‘back home safe’? / gfe 134 &1 3ref ‘you are safe’, 578 BT 3 ‘they go home’ Td 389 &I e
‘they are back’ 247 &1 3 home is safe’ % ,E:I'l}l' q P ‘back home safe’ BT fAefua s=ar %?

® 784
® 478
® 473
® 479
Correct Answer :-479
5)

Question Stimulus :-

A is twice as fast B and B is thrice as fast as C. The journey covered by C in 54 minutes will be be covered by Ain/ A &1 e
(19)



lggfﬁﬁawﬁ%ﬁh3$hﬁnﬁﬁvﬁﬁéﬁTﬁ%sﬂﬁﬁﬁcmwmnﬁmﬂﬁhﬁAaﬁwmﬁﬁm

e 18 min/ 18 fAe

e 27 min/ 27 fFe

* 36 min/ 36 fAqe

® 9min/ 9 e
Correct Answer :-9 min/ 9 fiFe
6)

Question Stimulus :-

Selling price of 20 oranges is same as cost price of 30 oranges. Find the gain Percentage? / 20 Tax P1

f3ePY He 30 YR T AT You &F SRR & | ATH BT Ufa=rd uar a2
° 70%
* 80%
* 50%
e None / ®Is gl
Correct Answer :-50%

7)
Question Stimulus :-

In the sequence shown below, which figure comes next? / <19 fR@™ T w9 ¥ 3rTedl snpfa
B W gRit?

®e0 [Yale ®CO 000
eCe 00 eC0 ®00
eee eee T Ty
000
o000
o8O0
[}
sen
0ee
. [CCe




QQ0
L Jole
*e 0

*90
®Ce
Oee

Correct Answer :-

8)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWAT FAHR S@aT B TR HIFT :

224,195,168, ,120
* 144
* 145
* 143
® 146
Correct Answer :-143
9)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ"ﬂ &R gAY SRGEAT B T Eﬁﬁﬂ;’ : aa_bcc_abb_caa_b _

c
® achcb
® acbbc
® bacbc
® cbcab

Correct Answer :-bachc

10)



Question Stimulus :-

Find the selling price, when cost price is 3680 and gain percent is 12 1/2%. / ﬁaﬂawmw
Y, 9fe @NTd Yo 3680 & 3R &1H Ufa=id 12 2% B

® 3140
® 2140
® 4140
* 1440
Correct Answer :-4140

11)
Question Stimulus :-

How many different 6 digit numbers can be formed from the digits 4,5,2,1,8,9? / 4,5,2,1,8,9 3(hT A B 3 B BT

1 YA S fbaq Il of® o= 9&d 82
* 360
* 720
* 480
* 840

Correct Answer :-720

12)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWIT TAHR ST BT [T BIOT :

0.5,0.55,0.65,0.80,
® 0.90
® 0.85
® 0.95

® 1.00

Correct Answer :-1.00



13)
Question Stimulus :-

Tickets numbered from 1 tol5 are mixed up and a tickgt is drawn at ranc!om. What is the
probability that it is a multiple of 3 or 5? / 1 ¥ 15 T% ¥@&IT & fedc 3y A fia ¢ §, vop R*&e
P AfAfta &1 | NTar Sar 81 1 TWHEHT 8 31 S WS 3 IFST 0N 3 3R 5 3R

* 7/15
* 8/15
* 9/15
° 1/3

Correct Answer :-7/15

14)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A% 28 T3 IR val & A = A T va & i I9H $19 91 vP T8I 22

Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(i) Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(ii) Woods, Greg/Hefinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781



(iii) Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(iv) Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

® jv
Correct Answer :-ii
15)

Question Stimulus :-

If BOLSTER is coded as ANKRSDQ then ANKDSRQ is coded as / gfe BOLSTER &1
ANKRSDQ ¥ ®ifed far oiar @ @ ANKDSRQ &1 T Sifed fvar smam

® BOLETRS
® ZMICRQP
® ZMILRQP
® OLBTRES

Correct Answer :-ZMIJCRQP

16)
Question Stimulus :-

If A: B = 2:5, B: C= 15:9, what is A: B: C? / If¢ A: B = 2:5, B: C= 15:9 § dl A: B: C ®T g?

(24)



* 4:7:6

e 2:5:3

* 4:7:5

* None / Hﬁiﬂﬁ
Correct Answer :-2:5:3

17)

Question Stimulus :-
In a code, cox un mev means ‘bread and jam’, un mev lod means ‘bread and butter’ ar_ld
gis un lod means ‘butter and toast’ what would be the code for ‘jam and toast’? / T® Tdobd
ﬁ, cox un mev 3Yfd ‘bread and jam’, un mev lod 3yfd ‘bread and butter’ W4 gis un lod 3ryfa
‘butter and toast’.'jam and toast’ & T =T HPHd gFM?

® gis un cox

® gis un mev

® mev un cox

® gisunlod
Correct Answer :-gis un cox
18)

Question Stimulus :-

Tickets numbered from 1 to 20 are mixed up and two tickets are drawn at random. What is the probability that the
drawn tickets are multiple of 4? / 1 | 20WW*WGHW1}WW%, 2 fewe &) afFafia e
frpTe SITaT 8 | T JRITEHT B B S BT ST IJHT UM 4 T2

° 1/2

° 1/3

° 1/6

° 1/4
Correct Answer :-1/4
19)

Question Stimulus :-



If the side of a square is increased by 20% then what is the increase in its area? / 'Cl'ﬁ Tl &t m &I 20% del

fear o, af S e A e gt grft?
* 40%
* 44%
* 42%
* 50%
Correct Answer :-44%
20)

Question Stimulus :-

A man covers a distance at a speed of 45kmph and returns back at a speed of 30 kmph.

Find his average speed? / T&% U™ &t g8t &t 45 fFft/ 90 & 37 A Q1 wear § SR arud 39 faedly
HUST | diedT 8] IS 3N9a a1 R ?

* 33

° 37

® 36

° 34
Correct Answer :-36
21)

Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / g GﬂTﬁ &I g1 & ford
a9 T@IT A fpat ddh e #t smazasar it




Correct Answer :-10

22)
Question Stimulus :-

If ‘Knowledge’ is encrypted as 256535475 how is ‘General’ encrypted as? / gfe
‘Knowledge’ &1 256535475 ¥ TP {541 a1 g df ‘General’ &1 9 TAfhy fHar smawm?

® 7545993
® 7969393
® 7555913

® 755591

Correct Answer :-7555913

23)
Question Stimulus :-

In covering a certain distance, the speeds of A and B are in the ratio of 3:4. A takes 30
minutes less than B to reach the destination. The time taken by B to reach the destination

is/ @ A gi S T oA ¥, A 3R B $1 7fd 3:4 F 370 & 31 307 Tqey VIF 7@ Uga & g A
$I B Ft ga-1 A 30 fATe &0 @raT 81 s I a9 Ugdd & g B gR1 forar wn wwy @

e 1hr/149el

1 1
e 12hr/1:249Ycl
e 2hr/249el

1 1
e 22hr/ 229eT

1 1
Correct Answer :-1 2hr/1 28eT

24)

Question Stimulus :-



A can do a work in 30 days. He works at it for 20 days and then ‘B’ finished it in 12 days. In how many
days ‘B’ alone can complete the work? / A T HH 31 30 feAi & ORT dR b dl 21 98 39 R 20 At a@
HTH T ¢ 3R R B’ 12 A1 & &0 &1 Waw Ha1 g1 ‘B’ AP A foba A1 § HTH $I Wad B Aol 82

® 32 days / 32 fea
e 35days / 35 faA
e 30days / 30 fe
e 36 days / 36 f&

Correct Answer :-36 days / 36 fa

25)
Question Stimulus :-

(300/100)x15+(5x5)-(84/6)x4=?
* 14
* 13
® 16
e 56

Correct Answer :-14

26)
Question Stimulus :-

If A’s weight is 30% less than that of B, how much percent B’s weight is more than that of A? / Tlﬁ APITOIB P g A

30% PH g, A B BT IoI A B a9 A fPa- ufazra e ghm?

&
* 427%

2
° 427%
2
° 427%
&

o 427%

&
Correct Answer :-427%



27)
Question Stimulus :-

If THIRST is coded as UJSTU, decode LAMENT / Tf& THIRST &Y uusTU | Hifsd forar SITdT 8, GILAMENT &1
fawrs ol

® MBNFOU
® MANTLE
® KZLDMS

® SMDLzZK

Correct Answer :-MBNFOU

28)
Question Stimulus :-

The series given below contains a qequence_of_al_phabets and numbers. Identify tl_1e
incorrect combination: / A & TS s@aT 3eRY Td TRSATSHT BT SIHH AT B g| TAd Jare
LEELE R

(i) MERC3ERVI55
(ii) MERC3ERVI55
(iii) MERC3ERVI55

(iv) MERC3REVI55

® ii
® jv
Correct Answer :-iv

29)

Question Stimulus :-

3071P x 582 = Q5335548

Where P & Q are representing different numerals, find the value of P? / 3071P x 582 = Q5335548 SIgi P 3R q faft=
TE® §; 99 p T UH FAwifag?



°* 6
* 9
e 8
° 4
Correct Answer :-4
30)
Question Stimulus :-
(10002 - 9992 ) is equal to / (10002 - 9992 ) TR § TP
e 1
e 1000
* 999
e 1999
Correct Answer :-1999

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Which of the following shaded regions represents the equation x + y =5 in the first

quadrant. / 79 & & @19 & o I &7 Ugd IgURT d THEUI x + y <5 HI g §

(30)



Correct Answer :-

2)
Question Stimulus :-

If an alloy is to contain copper and zinc in the ratio 9 : 4, then the zinc required (in kg) to be melted with 24 kg of copper is:
/ afe v fAgerg s & e afer vd S=ar 9: 4%&3¢mﬁwﬁvm% a9 24 feur dfar & Iy
e & fig smazas war (P o) 2

* 10%/,
° 92/3
e 10'/;
* 9
Correct Answer :-10%/,

3)
Question Stimulus :-

Which is the starting material used for the manufacture of synthetic fibres like rayon, polyesters, nylon etc? /

;f@wﬂgﬁﬁhﬁ,u‘fﬁw,mﬁm%ﬁﬁnh%mﬁqﬁmwﬁmmﬁmm

(31)



® Inorganic compounds. / 3roig e

® Petrochemicals. / aﬂ%?&lw
® Complex inorganic compounds. / sifed eroq aifire

® Raw materials from plants. / Tﬁﬁh > I tIET't’-f

Correct Answer :-Petrochemicals. / UgIHHH

4)
Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using
the information provided. / 9 1w ad 2004 ® Wg WiHe TUEl @t Il & 3R Iare (ST A
G 1) RREmar 31 Suasy &1 T8 AFMSRI &1 SUANT &R (4 Jardl & oarq < |

Ceament Clusters - Capacity and Production (million tonnes, 2004)

O Installed Capacity @ Production
14 ‘

12 1

10 1

[
S
N

NN
=y

Y

Gadl

AR
Yearagatla m <
1 J

Hiie Jgg- amar 3R S@ie (1 # @1 2, 2004)
YU &1, I

Which of the two clusters’ combined production would be equal to the production at Gulbarga cluster? / o= 3.1 '\‘TH@' Gl

T IATGH AT TG F IUTG & SRIaR HIT?
® Nalgonda and Yerraguntla /Wh.GT 3R a?TﬂE?IT
e Bilaspur and Nalgonda /ﬁﬂw 3R TeriET
® Bilaspur and Chanderia /ﬁ?l'l'\‘l'ﬂ? 3R i

e Satna and Chandrapur / Ha-TT 3R EELK



Correct Answer :-Nalgonda and Yerraguntla / ST 3R aﬂ'ﬂ?ﬂT

5)
Question Stimulus :-

If by selling 110 mangoes, the cost price of 120 mangoes is realized, the gain percent is? / gfe 110 M9 & 994 ﬁ,
120 3TH &T HI-Yed YT gl o1a1 8 , d@ a1 b1 fa=e 3:

QL%

11
Correct Answer :-

6)
Question Stimulus :-

High speed winds are accompanied by / 91 Tfd aTelt arg Wfea gt 8 39% gRI-
* Reduced air pressure / 91 & GaTd § HHI
* Lightening / 3THTRIY fagaq
® Thunderstorm / fasTelt MR gsreafy & ATy areht arich
® Increased air pressure / 91 & &aTd § gfs

Correct Answer :-Reduced air pressure / arg & &a1d d HH

7)

Question Stimulus :-



Two musical notes of frequency of 512 Hz and 768 Hz are produced by a violin .Which one has higher pitch? / T
AT GIRT 512 B 3R 768 oW @ MR & &Y Tt ORI FT IauTe ) W7 31 394 | fprad sifts
fra @2

* 512 Hz / &9

* 768 Hz / G

® Both have the same frequency/a:ﬁ 4| 3"@% aRTAY %
® Pitch is not related to frequency ekl GI'@ﬁT | aﬁé Tdg ol %

Correct Answer :-768 Hz / §¢W
8)
Question Stimulus :-

Which of the following statements is WRONG? / g o ¥ DI AT $YF Tad %?
® Unlike charges attract each other / SIHHTH 3mawr U W &I STHid Hd %

® During lightning, it is not safe to be inside a car with a metallic top / aﬁ',a & EaTF'T, uifes N F aR &
3R BT RF& 781 @

® Lightning and thunder occur almost simultaneously / aﬁ;‘cr 3R TSI TIHIT T H1Y aﬁ %

® The charges developed on bodies when they are rubbed against each other is due to transfer of electrons from

onebodytotheother/?ﬁﬁﬁﬂﬁ@ﬁ%ﬂ&&fmﬁﬁwGﬂaﬂﬁm@ﬁgﬁw
fis A gaeelA & RIMIGRU & SR gidT &

Correct Answer :-During lightning, it is not safe to be inside a car with a metallic top / a‘%a & aTFT,

uTfRe M it SR F e o1 YRfea T8 &

9)
Question Stimulus :-

Select the best electrical conductor from the metals given below. / FrafaRaa Eﬂﬁ\"}ﬁ u ¥ gdan ﬁ?ﬁﬁf arde
T I PIog

e Silver /dldl
* Aluminium / TegHifaq
® Copper GICH

° Iron/mT

Correct Answer :-Silver / didl



10)
Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using
the information provided. / 39 1w a¥ 2004 # wg WiHe TuEl @t Il &y 3R Iare (ST A
G ) RREmar 31 Suasy #Y1g 1§ AFMSRI &1 IUANT $R 9 Fardl & wame S|

Ceament Clusters - Capacity and Production (milllon tonnes, 2004)

O Installed Capacity @ Production

14

12

10

8__

|
MMM
RN
Sy

AN

e

AN\
Yma&\}\\\\

e Jg- emar 3R S@re (1 § 91 2, 2004)
YU &1, I

Which two clusters had equal cement production for the year? / o ?:ﬁ '\‘ITE} Ek LR RMEY ?ﬂﬁ? DT Idlgd fear
Yr?

e Bilaspur and Nalgonda /ﬁm 3R AaeT
® Satna and Chandrapur / Il Gﬁ? W
e Nalgonda and Yerraguntla / TETIST 3R ﬁ?T‘JEFIT
® Gulbarga and Chandrapur /'ﬂ?ITSITI'f 3R W
Correct Answer :-Gulbarga and Chandrapur/Wﬁ MR W

11)
Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using

(35)



the information provided. / 99 1w ad 2004 ® Wa WiHe TUEl @t Il &y 8iR It (ST A
WRg 21) e g1 Suasy HRE TE PRI BT IUANT B Y Hardl & sa™ |

Cament Clusters - Capaclty and Production (milllon tonnes, 2004)

O Installed Capacity @ Production

14

2 -

10 1

[
AL
_\\\\'\\\W

BN
““"’”‘"“_:\\\\\\\\\‘Q
= AR

AN
Yearagatla k\}\“\\\

Gl

Hife wgg- amar 3R I@ie (1 | @1 2, 2004)
UG &Hd1, I

Which cement cluster’s had the lowest percentage difference in the installed capacity and the production? / g diHe

el @1 WU &ar iR I § Wad HH Ula=d &1 3R 82
® Satna / HdHl

° Gulbarga/WTf
* Nalgonda / TETIST

® Yerraguntla /ﬁwjz?n

Correct Answer :-Satna / Jd-T

12)
Question Stimulus :-

Two circles with the same center and different radius are called ./ a‘r qd

ST $% TP ) 3R ASUTE 3reT- 3 §f 98 FeaQ 2
e Concentric circles / ¥&fiaqa

e Eccentric circles / 3&fd qa

e Congruent circles / wafmaw ga

(36)



e None of the above / 378 @ #¥ T8}
Correct Answer :-Concentric circles / &fga ga
13)

Question Stimulus :-

Find the volume of a cuboid 16 m long, 14 m broad and 7 m high. / 39 Y-TH DT TAd- ATd aﬁﬁm S 16 Hiex e %,
14 Hiex ST § 3R 7 Hex ST B

® 1568 cubic meter / 1568 - HIcY

® 968 cubic meter / 968 YU Her

® 1604 cubic meter / 1604 Y- Her

® 1509 cubic meter / 1509 ¥ Hiex
Correct Answer :-1568 cubic meter / 1568 ¥ Hiex
14)

Question Stimulus :-

In the given figure DE || BC. Find EC / < T 3n&fd # DE || BC g df EC TTd &<t
A
15 (m",-"", \ 1 ¢m

Df—\E
3cm .."'. LY

N

B C

* 2cm /2 9L

* 3cm/39HL

® 1cm/1%H

® 1.5cm/1.53H.
Correct Answer :-2cm / 2 941,
15)

Question Stimulus :-

The device called is used by the doctors to amplify the heart sound, it consists of an ear piece, tube and

/ T @ty @t 9g1 ¥ e Rifvee g1 wgaa g Heard! 21 38 e, 7o ik

(37)



____ ®dEl
® Thermometer, heart piece / ?‘I'I'CITI'IT?[, E'IT:.F UiEs|
e Amplifier, Chest piece / Wad®, 3¢ Fi¥
® Stethoscope, Chest piece / '\‘%Qhﬁﬁ'q, ﬁ'&' Tﬂ?’l
® Stethoscope, heart piece / %%ﬂwﬁu, ET(.; tﬂW

Correct Answer :-Stethoscope, Chest piece / '\‘%m, a'\‘E' Lir:|

16)

Question Stimulus :-

Raj constructed a new house. He concreted the surroundings and pathway to his gate. As a student who loves
nature, which of the following statement would you support? / ITSl 1 TP U U Bl frator feam 399 A
AT F AU 3R I Bl Hovle A 91911 T fAanfF e A el A wR g s A s A
FY P 3T THAT S

® Concreting will not allow the water to percolate in the premises /aﬁﬂﬁ'ﬂ iR o urHl & W Tal

® [t will prevent water logging /a' It & ST P B
® It will keep the premises look neat and tidy /ﬁ IR & 9% JUT ferar w@m
® It will become slippery during rainy season IETR'QT & waa o qg fraas | dad SITum

Correct Answer :-Concreting will not allow the water to percolate in the premises / Hifen uivaR |

urt ®Y gea e &m
17)

Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using

the information provided. / % UT% ¥ 2004 # wE e Tyel @t RIfT &war 3R I@re (T A
G 1) REmar 31 U #18 T3 ISR BT IUANT $R 9 Fardl & w9 S|



Cament Clusters - Capaclty and Production (milllon tonnes, 2004)

O Installed Capacity @ Production

14

12

10 +

I
ML
_\\\\\\W

NN
W_a\\\\\\\\‘%
= AR

NN
Yaragatla t§}\\\‘

Gl

e Tqg- &mar 3R I (SHI # @1a @, 2004)
YT &HdT, I

Which of the following clusters had equal installed capacity for the year? / Faferfea ?I'Q\B} A ¥ &9 g &1 wifug
&war a9 ¥ RreR A

® Satna and Gulbarga / HdAT GﬁT W"Tf
e Bilaspur and Chanderia /ﬁ?l'l'\‘l'ﬂ? Gﬁ? ﬂiﬁtﬁ
® Nalgonda and Yerraguntla/qﬂ"ﬁgT 3R ﬁvrgz?n
® Chanderia and Nalgonda /?«i%ﬂ'cﬂ 3R TSt
Correct Answer :-Nalgonda and Yerraguntla/:l?l"ﬁST 3R '&?T{[E'FIT

18)
Question Stimulus :-

The phenomenon that helps us to see different objects around us. / dg fvgedr o gv
AT AU F At awgali @) 3@ gba & Peard 2

e Regular reflection / uffd wEda
e Refraction / 3qdd_
e Diffraction / fiadq

* Total internal reflection / T AR® WG

(39)



Correct Answer :-Regular reflection / faffa wada

19)
Question Stimulus :-
Insert the missing link in the food chain. / 9l€l sj‘@mﬁmmﬁmﬁl

Grass —# ---=====e=e-- —» frog —* snake —* eagle/ U —*----m-mmmmmum — HeH
— U4 —» TEs

® sun/ '\‘I‘f

e squirrel / Rre@

® lion /2R

* insect /PIC
Correct Answer :-insect / ®IC
20)

Question Stimulus :-

Sanjana's roll number is a two digit number. Her friend Alisha's roll number has the same
digits as Sanjana's roll number, with the digits interchanged. If they add their roll
number, and divide the sum by 11, then is the remainder. / TSI &1 HHID
3 3P B HWAT 3| IAD! Tedl AN S HHIP | agl 3P Aafd-—4d g St 3P "o & e d g1 afe 3
3U HHIB! B WIS, T4 I $I 11 A faviford &3, 99 v gl

0

Correct Answer :-0

21)
Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using
the information provided. / 39 1w ad 2004 ® Wg WiHe TUEl @t Tl &y 8N It (ST A
1@ o) fe@mar 81 Suas! B TS JAFBRI BT IUART H Y Hardl & S99 |



Cament Clusters - Capaclty and Production (milllon tonnes, 2004)

O Installed Capacity @ Production

14

12

10 +

I
AMINTMMMNRNY
_\\\\'\\\W

NN
W_a\\\\\\\\‘%
= AN\~

NN
Yaragatla h\}\\\\\\‘

Gl

e Tqg- &mar 3R I (SH1 # @1a 2, 2004)
TS &1, I

Which cement cluster’s had the highest percentage difference in the installed capacity and the production? / fa dide

g @ RN &ar 3R Icre A S=rad ufaxrd &1 iR 82
® Satna / HdHl
® Bilaspur/ ﬁ?l'l'\‘l'ﬂ'\’
® Chanderia /iiaﬁ'{ﬂ
® Nalgonda /=m1ﬁ31
Correct Answer :-Nalgonda /q?ITﬁt":T
22)

Question Stimulus :-

Among the appliances listed below, which does not use electromagnet? / CiE] 'ﬁ?ﬂ’d&' IUHION H | BT ﬁ'ﬁqﬂ'
YaP BT TANT 81 Hal?

® Toys / IERIE]

® Electric bell / fasTelt &1 °dt

® Washing machine / IR o=
® Room heater / ¥H ﬁ??

Correct Answer :-Room heater / &H BlcX



23)

Question Stimulus :-

The animals which have water vascular system are / 3 U] fSF# 9ia1 91fd®T &7 Bla1 8, FEA &

Correct Answer :-Sponges and Hydra / ¥UG 3R HER

24)

Fishes / AroTeral

Sponges and Hydra / TU% 3R HEEN
Whale / @9

Dolphine / Siarp

Question Stimulus :-

Oral drops are administered to children below 5 years to eradicate a disease from our country. Which is that viral

disease? / THIR X | TH INT IeH & 1€ 5 af § o4 I¥ & T= & AP 4 & wrelt &1 98 araRa
s i« 82

Polio / ofera
Tuberculosis / &d AT
Typhoid / STIWRISS
Chicken pox /?9"\1& EEEd

Correct Answer :-Polio / Qiferal

25)

Question Stimulus :-

The area of the triangle ABC given in the figure is

ABC &1 83%d &

/ feg T o & Breptor



* 60

° 24

e 30
Correct Answer :-24
26)

Question Stimulus :-

X -0x+18=0 xT—0x+18=0
Find the roots of the equation / Gt & ga fA@ree

« 6and 9/ 6 3R 9
«6and 6/ 63X 6
e 3and3/33R3
e 6and 3 / 63k 3
Correct Answer :-6 and3/63ﬁ?3

27)
Question Stimulus :-

Evaluate sin 60° cos 30° + sin 30° cos 60° / sin 60° cos 30° + sin 30° cos 60° &T J™ih
|

e 1

* Y

3412

e 1/4

Correct Answer :-1

28)
Question Stimulus :-

What is the main reason for decrease in number of rare animals? / gﬁ‘l{ q'f{[\?rﬁ P GBI § HHt BT Y HIRUT
37

(43)



* Hunting / R&®R

® Cutting the branches of few trees which give food to animals / P& q&ﬁ D @13 BT HeT ot U{I\%ﬁ Ca|

eI Tt &
® Over grazing / AT YD iR'I%
® Deforestation /EF-ﬁWIQFI

Correct Answer :-Deforestation / =@

29)

Question Stimulus :-

Treaded tyres are grooved. It is done / '\"-ﬁ'Q'FT LI ara CIa @ﬁaﬂ' ﬁﬁ' %'I Q'\‘IT fomaT ST % -
® To provide better grip on theroad / ISP WX aﬂ?ﬂ' Uh g UglHd A B ﬁﬂ!
® Make the tyre look good / I &I 3BT ﬁ@'ﬁ * ﬁﬂ!
® To decrease friction of the tyre with the road / S ® F 1Y AR & Y40 B HH FI1 & 1%1"'{
® Increase the risk of sliding / mﬂ% & E?ﬁ' G| Wﬁ & ﬁl"’{

Correct Answer :-To provide better grip on the road / 98® UY ﬁe?r\r Jhg Ugld A B ﬁm

30)
Question Stimulus :-

Ganga action plan, launched in 1985 is aimed at / 1985 ¥ T[T TaRM ST &7 yHIEA fHd 3e=d
| gorm

® Using River Ganga for spiritual activities / 7T T BT ST SmeATidre Afafaftml § &+ & fere
® Developing River Ganga for attracting tourists / T A &1 AP ydes) &) e fid $33
¥ fag

® Reducing pollution in river Ganga / T At A UgUUl ®H AP ﬁl’r{
* Building dams in river Ganga / Tl T R TN F fafor & m

Correct Answer :-Reducing pollution in river Ganga / T Fg] H UguUl HH 31 & fog



